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C1 —sample - page 2 of 4

| C1 - Atomic Structure and the Periodic Table—El, Mixtures and C d
Define element and give some examples. Chromatography [Evaporation can be used to separate

A student wanisto compare the: colours in 2 inks, X and Y, using
paper Describe a method the
use. Include a diagram.

Define compound and give some
.

exampe: Study the chromatogram below.

Suggest 3 conclusions That can be drawn from this experiment,

Define mixture and give some examples '

Conclusions

Filtration
Separates from
liquids. Draw and label the apparatus
used for filtration.

Why is the start line drawn in pencil?

from solutions.
Label the disgram.

How are evaporation and crystallisation
aiferent?

Simple Distillation is used to separate a froma
solution

Name the physical property by which this method is able to
separate mixtures

Descrine now Fractional Distillation can be
used to separate 2 mixture of liquids.

C2 —sample - page 1 of 4

| C2 Bonding, Structure and the Properties of Matter— Covalent Bonding

Glant Covalent Substances have high melting points because ..

Covatent Bonding Diemond Graphite Grephene Fullerenes
Sharing of togaina ey
outer shell — 1 aerd
===
Involves non-metals
l Explain why diamond | Explain why graphite is |Listthe progerties of | Explain why fullerencs
is hard. soft and siippery. graphene. can be used to deliver
Simple Molecular Substances arugs into the body.
Explain why chlorine has a low boiling
point
Explain why diamond | Explain why graphite | Additional nores: Additional notes:
doesnot conduct | can conduct elecricity.
Explain why chlorine does not conduct Electricity.
clectricity
f oo k
Polymers

Explain why most polymers are solid at reom temperature.

C3 — Free Resource .
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| C4 - Chemical Changes—Acids, Bases and Salts.

ydrachiercase
Wnat colour is universal "

indicator in a neutral solution?

sulphate

HNo,

Give the name of another
indicater.

ammonia +

Wnen acids dissolve in water ' e
they have a pH of less than ACIDY =
___, whereas alkalis would T NEUTRAL T + [
haveapHeg_ than7. pH ‘ o 1 e
Tisn

acid Formula salt Complete the word equations for the neutralisation reactions below

~ ammonium + water
nitrate
+hydrochloric acid - potassium +
chloride

Which fon is present in acids?

Which ion is present in alkalis?
Describe how to make a salt from [
an acid and 2 metal Represent nevtralisation in terms of ions

How: do alkalis differ from bases?

metal
carbonate

Add - Metal —

General Word Equations

for each step

Describe how to make a soluble salt (copper sulphate] from an insoluble base [copper oxide). Include labelled diagrams

C5 — Free Resource.
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| C6 - Rates of i

Draw the syr

Le Chatelier's Principle (HT)

the temperature moves the

A reversible reactions is one which will go both

vinen the

reaction happens at
the same sthe b,
reaction.

Iy reached ina ¢

A reversible reactions is endothermic in one dirction
and e, in the opposite direction.

Thermal decomposition of hydrated copper sulphate.

[ — T———

What colour is hydrated copper sulphate?
What colour is anhydrous copper sulphate?

The forwards reaction is endothermic, so the
backwards reaction must be

«d

s This means when no reac-
tants or products can e. oranter
the site of the reaction.

If the equilibrium shifts 1o the 1 the
concentration of the s
ereater than the reactants. If the equilibrium
<hifts 2o the | the concentration of
ther. isgrasterthan the
Praducs.

You can change the direction of a reversible
reaction by changing the t
P, orc,

True or false?
Equiliorium means there are the same
|amount of praducts and reactants.

[
equiibrium in the exothermic direction.

Ifyou increase the p the
equilbrium moves in the direction of the
fewest molecules.

Ifyou increase the concentration of the
reactants, m. product will be made.

The Haber Process makes ammonia.

Nigh+3Hig) = 2NHy(gh
The forward reaction is exsthermic. Bxplain
he effect of increasing temperature on the
yieid of ammonia

Explain the effect of increasing pressure on
the yield of ammonia

State and explain howi an increase in pressure would affect the yield of the product in the following reactions (HT).

) Ok = 250,(g)

S == 5048 ¢ 2hos)

C7 —sample — page 3 of 3

| C7 - Organic Chemistry—Cracking

Long chain hydrocarbons are in lower o
These are.c to produce shorter more
useful hydrocarbons

Test for Alkenes (unsaturated hydrocarbons)

water becomes ¢,

Long alkane shorter alkane + alkene

bromine, the new .

Crackingisat, q

There are 2 types of cracking.

Catalytic cracking is carried out under h
temperatures in the presence ofa c_
Steam cracking is caried out under high

temperatures with steam, but does not require 3
c

Add the missing products

Gtz () =
decane

0+ C:Hi (0)

The equations below represent cracking reactions | | DESCribe the process of cracking
that s happening in the diagram.

C8 — Free Resource.
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| C9 - Chemistry of the Atmosphere—The History of the Atmosphere

The volcanic atmosphere was made up of mainly:
1 a W, v

e
B TY
The w, v. condensed and fell as
i forming the o,
c il dissolved in the

o some became trapped as c

in'the shells of sez creatures. Early plants ook in
q and released

o during p

N was formed by denitrifying bacteria in the
sail. Newly evolved o reacted with methane
and ammonia removing i from the atmosphere.

The reaction between ammonia and oxygen produced
moren, s

The pie chart shows the different amount of gases in
today's atmosphere.

Othergases

gasin today's atmosphere

sopee

o (ot =

Why does the percentage of nitrogen remain the same?

Maten the gas to the correct approximate percentage of | | Describe and expiain how the

composition of the Earth's
atmosghere was changed by the
formation of coal.

The table below details the
average temperatures on Earth,
Mars and Venus.

Oceans cover most of Earth. Mars
and Venus have water vapourin
their atmosphere, but it does not
form oceans. Why?

C10 — sample page 1 of 4.

| C10 - Resources —Finite and Renewable Resources.

ey are not made by humans,
Some natural resources may run out.

What is the difference between a finte resource and a
resource?

Give 2 examples of finite resourees.

Give 2 examples of renewable resources.

broducts or processes. Give an example of this.

Give an example of this

Natural resources come from the E anda.

Some natural products can be replaced or improved by man-made

The supply of natural resources can be increased by agriculture.

Look at the table
Waterial Time to form (vears)
renewable Wood =Ty
coal 3x10°
Coman o7

State one renewsble resource. Explain your answer.

" be

shor
ieftin 2036. State 2 raasons why this estimation i a fough estimation’
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|C?—0rganic Chemistry—Alkenes, Alcohols, Carboxylic Acids and Esters (Chemistry Only)

= |Awdx .o || -y | Bikanes | Strwctwal Formula

spoy Aogie)

C8 —sample — page 1 of 2.

| C8—Chemical Analysis (Chemistry Only)

Flame Tests |M»- caton | Precipitatian Test (sasing wo0k)

on Preceitasen
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| C10—R —Using Materials (Chemistry Only)
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